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Which of the following is not a vertex of the positive region bounded by the inequalities
2x+3y <6, 5x+3y<15andx,y=0"7
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What is the optimal solution of the LPP: Maximize Z=x+y, subject to: x-y £ 0, 3x-y >-3 and
X,y 2 0 ? 5 z=x+y, *TONTCIEH: x-y <0, 3x-y 2-3 A8 x,y 20, AR @E.(ALH.-9F 57N AN F
?

What is a basic solution called non-degenerate ?
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What is a set of feasible solutions to an LPP ?
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In the optimal simplex table, Zj - Cj = 0 value indicates which type of solution?
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If, when we are using a Simplex table to solve a maximization problem, we find that the
ratios for determining the key row are all negative, then we know that the solution is
SR ST ST s (oI (53T TR Sor AW 31 M fovefy Fac0

BT (¥ (T T SPTS HeNHF, ST AN S (T T

For a maximization problem using Simplex table, we that know we have reached the
optimal solution when the Zj - Cj row is
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In converting an equality constraint for use in a Simplex table, we must add which
quanity?
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The following LPP is not in standard primal form : Maximize Z = 2x + 9y, subject to :

3x + 5y 23,9x+5y £ 8, x,y20.Which of the following changes would make it a standard
primal ?
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What is the objective function of the dual minimization problem of the following
maximization problem : Maximize Z = 2x - 6y, subjecttox -3y <6, 2x -4y > 8, x - 3y 2 -6,
andx,y=>207?
foraforie o3 SermIE tFe I SHfod AT SIS F
BANZ=2x-6y, TONTIG x-3y<6,2x-4y>8,x-3y>-6, 3%, y20?
The total number of allocations in a basic feasible solution of transportation problem of
m X n size is equal to
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An optimal solution of an assignment problem can be obtained only if
{5 ST ST AF6 optimal solution TSI IE B Iw

The optimal solution for a Travelling Salesman Problem and the corresponding Assignment
problem will be
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If there exists a saddle point for a given two person zero sum game problem, it implies that
the players are using
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If there is dominance in a game then what is the relation between Least of the row and of
highest of another row ?
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